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Cuadro 10 (continuación 3)/Table 10 (continued 3)
El Salvador: tablas abreviadas de mortalidada

 El Salvador: abridged life tables a

1980

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.102 0.095  100 000  9 540  93 246 0.880 b 5 136 203 51.4
1 4 0.015 0.059  90 460  5 317  346 942 0.962 c 5 042 957 55.7
5 5 0.002 0.011  85 143   910  423 443 0.991 4 696 015 55.2

10 5 0.002 0.008  84 234   669  419 496 0.985 4 272 572 50.7
15 5 0.004 0.022  83 565  1 841  413 222 0.967 3 853 076 46.1
20 5 0.009 0.043  81 724  3 543  399 763 0.951 3 439 854 42.1
25 5 0.011 0.055  78 181  4 326  380 092 0.944 3 040 091 38.9
30 5 0.011 0.056  73 856  4 123  358 970 0.946 2 660 000 36.0
35 5 0.011 0.052  69 732  3 660  339 511 0.948 2 301 030 33.0
40 5 0.011 0.052  66 072  3 439  321 764 0.945 1 961 518 29.7
45 5 0.012 0.058  62 634  3 626  304 103 0.936 1 639 754 26.2
50 5 0.015 0.071  59 007  4 208  284 518 0.918 1 335 652 22.6
55 5 0.020 0.094  54 800  5 162  261 094 0.889 1 051 134 19.2
60 5 0.027 0.129  49 638  6 380  232 239 0.849  790 040 15.9
65 5 0.039 0.176  43 258  7 629  197 214 0.789  557 801 12.9
70 5 0.058 0.253  35 628  9 011  155 614 0.697  360 587 10.1
75 5 0.091 0.371  26 618  9 872  108 407 0.570  204 973 7.7
80 5 0.144 0.523  16 745  8 759  61 829 0.423  96 566 5.8
85 5 0.223 0.689  7 986  5 499  26 184 0.279  34 737 4.3
90 5 0.327 0.825  2 487  2 052  7 306 0.162  8 553 3.4
95 5 0.448 0.913   435   397  1 182 0.053 d  1 248 2.9

100 ω 0.577 1.000   38   38   66   66 1.7
Mujeres/Females

0 1 0.083 0.079  100 000  7 857  94 470 0.899 b 6 192 926 61.9
1 4 0.014 0.053  92 143  4 871  355 085 0.966 c 6 098 456 66.2
5 5 0.002 0.010  87 272   868  434 190 0.993 5 743 370 65.8

10 5 0.001 0.005  86 404   434  430 933 0.993 5 309 180 61.4
15 5 0.002 0.008  85 969   718  428 052 0.991 4 878 247 56.7
20 5 0.002 0.010  85 251   837  424 163 0.990 4 450 195 52.2
25 5 0.002 0.010  84 414   836  419 981 0.989 4 026 032 47.7
30 5 0.002 0.012  83 578  1 026  415 326 0.986 3 606 051 43.1
35 5 0.003 0.017  82 552  1 373  409 328 0.980 3 190 725 38.7
40 5 0.005 0.023  81 179  1 867  401 227 0.973 2 781 397 34.3
45 5 0.007 0.032  79 312  2 542  390 204 0.962 2 380 171 30.0
50 5 0.009 0.045  76 770  3 453  375 216 0.946 1 989 967 25.9
55 5 0.013 0.063  73 316  4 597  355 089 0.925 1 614 751 22.0
60 5 0.018 0.087  68 719  5 999  328 598 0.895 1 259 662 18.3
65 5 0.026 0.124  62 720  7 803  294 093 0.844  931 064 14.8
70 5 0.042 0.193  54 917  10 577  248 143 0.758  636 971 11.6
75 5 0.071 0.302  44 340  13 406  188 186 0.634  388 828 8.8
80 5 0.120 0.458  30 934  14 162  119 268 0.484  200 643 6.5
85 5 0.188 0.624  16 773  10 463  57 708 0.335  81 374 4.9
90 5 0.281 0.774  6 310  4 883  19 344 0.206  23 666 3.8
95 5 0.394 0.880  1 427  1 257  3 994 0.076 d  4 323 3.0

100 ω 0.519 1.000   171   171   328   328 1.9

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


